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1 Recall: H : A 5 .I 5=5+1
spin-42 e -9 C spin-4, p .

[H,I]=o. H c a n b e diagonalised

eigenvalueslvectors: H 52,J z .

E -Afd;
{¥14,>

+
way
}

15-1,arts
lj-l.mu) Jz=thm" " i i i .a m ,

um.?!?""
"

E=-3k¥: ¥1947-HM) lj=o,m=o)

= o o . ,

"
"'" '"

"

ioupedbasist FcoupleTbasis"

{0'T



2 Today's goal:
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3 What's jiojz? Organize by Jz=JiztJzz
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4 I 0 I = 2
i , a i z µ ,
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uncoupled.

Haiti,
I 0*1 i spin0 : i i .J
E B

spin 1 :
8×5 aib j-ajb;

spin2 : tracelesssymmetricmatrix:
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5-independent components.



5 2 particles w t j,-12=1.
H ' AI,.-52 ( A some constant).

5=5,-152. Know 5,2=522--2-214+11
- 2 k ?

H:{ALFIERI,'-Ii]
= ¥052- A-252

I t t ' j l j t l ) . j=o,1 , 2 since 10×1=20100.

j = o 5=1 j - 2

E = -2At2 EE-Ati' E=tAh2

degeneracy1 degeneracy

25+1=3
degeneracy5
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